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(1) y = (@?)V1—z+2* (V1-x) /1l —x+x ENier
- (4 —5z) (%)
2V1—x
oy 2
@) ,_ @)V2w+1—a(V2x+1) 2o 41w 5
Y (V2z +1)2 2+ 1
- = (%)
2z 4+ 1)v2zr +1
1+ 586)/ 62°
3 I ( — S
(3) Yy (1+ %) (1 + 292 (%)
(4) y' = (tan® ) sin® z 4 tan® z(sin® )’
=3tan’z - -sin? z + tan® z - 2sin x cos x
0s? x
= 3tan?x + tan3 rsin 2z = tan® x(3tanx +sin2z) (%)
(5) y = (2?)e "+ a%(e") =2ze " +a*(—e ") = 2z —2%)e " (%)
(6) y/ — ecosSm(cosgx)/ — ecosSm . (_ Sin3$) .3 = _36c053m . sin 3z (%{)
,_ (cosz)"  —sinz _ -
(7) V= Tose T cosz . ane (%)

(8) y =log,(logx) = % (% e 122591) LD

~ {log(log )} logx — log(logz) - (logx)’ 1?,275 -logz —log(logz) - 1

~

(log z)* - (log z)?

(&)

1 —1log(log x)
 z(logx)?
9) y= (Yx)* (x> 0) OWMBIETH 2705, WLOMEzE LD L
logy = log({/z)" = - logx
x TR LT
v _1
y 3 log x +
£oT
y' = Llogz+1) = £(Va)(logz+1) ()

z 1

1
3 3(



(3]

(1) a>0, gx) =2 —2a &V Y \\\ y=f(z)
_ [ @-a@-2) (2a \
f(x)—|x—a|(x—2a)—{ —(x—a)(x —2a) (z<a) \
Lo C, y= flz) 7T 714K N
(2) BB f(z) 75 @ = a THATHETH 272005 5 ST
IWICES R .
PHBMEBE L CHET LI L \
THb, 22T
f(@) = |z —alg(z) (g(z) 1FEikE), f(a) =0
LD
L@ f@) e alg(e)
r—a+0 xr—a r—a+0 xr—a
— i E—9el@)
z—a+0 Tr—a
= lim g(e)=gla) - ©)
L@ - f@) e —alg()
x—a—0 Tr—a x—a—0 Tr—a
_ i —@—a)y(@)
r—a—0 Tr—a
= lim —g(z)=—g(a) - ®
LoT, ©Q BHFETLHEME, @ L @ P—KTH2LTHLHNH
g(a) = —g(a) soogla)=0 (%)

B)glx)=z—aDl %, 2)OFHKEHAIL, TOLZ
—Bl: f(@) =|z—al(z—a) (&)
NERIRY S L

y=lz—al(z—a)
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(4]

(1) fr) = BL (2> 0) &b

T 0
oL %.x—logx-l _1-—logx #(z) + 1ol =
N 1R

THHIE, f(r) DHRTEED LD 124D
B : f(e) :% (%)

THO.
(2) a>0, b>0DL &
a®=b* <= loga® = logh®
<= bloga = alogb
loga logb
— — =

a b
= fla) = fb)

CHBHL, HBEa bTa<bho fla)= f(b) 5B bOERDILZE
(1) O & li_)m f(x)=0, 1—1>I£0f(x) =—oo b, 777 TH.

FoT BB alll<a<e ZRITIEDVETHLINS, a=2

TorEf(2)=f(b)(2<b) EALTHRKEbIZb=4THY,
WY THENS D=4 P ME—DETH 5.
PELDY, kobbDId
(a, b) =(2,4) (&)
(3) (1) OHKE 3 <7 XV, f3)> f(m) PKIZT S, £oT

log 3 < logm
3 T
<~ wlog3 > 3logm
<= log3™ > logn3
— 3™ > (L JKe>1)

EDHE, 3T OFHFREWN, (%)
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(1]
(1) y=e* @ (a, e*) 1B BEROHERIL, o =e* &1

y=e*(z—a)+e” o y=e®z+(1—a)e* .- ©) (&)
(2) y=logz O (s, logs) 2BV BHEMOIFERL, y:5;;W

1

S(x—s)—i—logs:%x—l—i—logs ------ ©)

y:

22T, Ot @ EFE—FHTEh5,

{ et — %. ...... ®
(I1—a)e*= —1+logs --+--- @
® &Y, s=e*THLNH, @IZHRALT
(1—a)e®=—1+loge *=—1—a
Lo, a oAxTHEBRE
1—-a)e*+14+a=0 - ® &)
3) ® OEM% fla) EBLE, fla)=(1—a)e®+1+a £V
fla)=—e"+ (1 —a)e +1=1—ae

£oT, aL00EE f'(a) >0
$72, a>00EE flla) BEAL, /(1) <0 THEH,L, flla)=0 2H7T a B
0L 1DOHIZ/AZIOHFETS. Thix a(0<a<l) &L

a o
fla) | +10] =
fla) || /7 e
BIO»
f(=2) = 3e¢2-1<0
f(=1) = 2 t>0
f(1)y = 2>0
f(2) = —€e2+3<0

L0, fla)=0(®) %A72T ald —2<a<-1&1<a<2HPAIZ/7E1 DT OfF
9 5.
(RERA#)
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